H & 0l & AHS B Ml A

FAHS A2 XA (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ZH 1t 4,061,603 3,877,243 174,360
= 821,764
[ 364,569
Al 1,398,646
- 1,289,889
= 176,735
SXo1gt 25 3,344,871 3,166,685 178,186
= 821,764
s 331,281
Al 1,041,202
- 1,064,724
= 85,900
FAHE g XNH 3,254,271 3,075,885 178,386
= 821,764
s 269,261
Al 1,027,912
- 1,049,434
= 85,900
AR SXER 8435t 15,800 4,100 11,700
201 er23| 1,600 1,600 0
01 AtR2t2|HI 1,600 1,600 0
O=AAY g2= 400,000 x22| 800
O=X2 g R3A 2ZH S MH
80,0002 *10H 800
203 HR=H] 14,200 2,500 11,700
03 A=A R =AH] 14,200 2,500 11,700
OXISs ot A=A 3,000,000& 3,000
OFQU=A= L2t A
8,700,000& 8,700
OSXEZH A=A 2,500,000& 2,500
KIS A2 2EZAL 15,000 0 15,000
308 XtXIEMSO0IH 15,000 0 15,000
13 S [2S0tHet 4 A AS A 15,000 0 15,000
OXYAIS ST AL
30,0002 *500AI CH 15,000
=7 =12 39,840 39,840
201 fer23| 24,490 24,490
03 A= SHI 24,490 24,490
OSg, &¢di = St 2,000,000& 2,000
OTAIEE € HEFA 24|
6.,000,000& 6,000
O#ANE (B2, HEga) &X
9,600,000& 9,600
OAIES 600,000 600
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S SXHBD
Ha: =10|8

ciel FobiE ME N
RN - I BRA(E) - HRA - BES of v A
O8E2 - HE=FA S=2 N
5,040,000 5,040
OE=2elE2H, ZAH M
1,250,000 1,250
301 2 &= 8,350 8,350
11 HAIMHIXI R 3 8,350 8,350
OsdXkt 24 4,500,000& 4,500
OgA2g Al 3,850
oA 2,800,000 2,800
oZ2HA| 1,050,000 1,050
401 AIEHIZ SR OHYI 7,000 7,000
04 HARZE AIEH] 7,000 7,000
ORU <Xl 2,000,000& 2,000
OLEDZ &4 (3002! x| ) & X 5,000,000& 5,000
AR SR 2 849,092 849,092
Al 714,794
- 110,298
= 24,000
307 212t01™ 849,092 849,092
Al 714,7%4
T 110,298
= 24,000
05 2ItRIE= 849,092 849,092
OAtel=X2 29 825,092,000 825,092
Al 714,794
T 110,298
ORIZHAIRI S XA HLIHA
100,000 «20EH 122 24,000
= 24,000
AMEIZXIAE X 4,000 4,000
201 Lt 3,000 3,000
01 AtR2telbl 3,000 3,000
OAtg|SX2 ZIIEEE ==
3,000,000 3,000
401 Al HIZ R 0HbI 1,000 1,000
01 AlZHI 1,000 1,000
OArel=X2 Alg2e 1,000,000 1,000
Ol&THel & dHefxt 3 1,600 1,600
201 el 600 600
2 35244l 600 600
OMdi+==Xt SEHZAIAYE HEHET]
Stes 50,000 * 123 600
307 el2to| & 1,000 1,000




2A:

=XF 20
3

= =300 2E
Cel: FHAANES ME KA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0192 & =4l 1,000 1,000 0
OO0 2lg+=Hl 1,000,000& 1,000
ANSIESRHME K (HEAY) 481,972 407,572 74,400
301 LeEN= 481,972 407,572 74,400
10 MSRREENS 481,972 407,572 74,400
OAlZI=2MHE XA 481,972
ocusas 1,200,000 *31H* 122 446,400
o=Li0iH] 3,400 31 *222 « 12 27,826
ol =H| 309, 8403 x25H 7,746
ARISXERE L 48,048 48,048
301 EtE N = 48,048 48,048
10 MSRREENS 48,048 48,048
OMI =R SAHI(ARISXIERXI)
7,000« 022 x 12 16,632
OAMBIEL2Y SAHI(ARISXIAIE2S X
) 7,0003 *17H*222 « 12 31,416
ZE0 29 X 60,743 70,743 10,000
Al 40,000
- 17,143
= 3,600
307 lztol & 60,743 70,743 10,000
Al 40,000
T 17,143
= 3,600
10 Al SXAZEE 22X 60,743 70,743 10,000
OZ=0! 23 57,143,000 57,143
Al 40,000
- 17,143
OFL01t gxz XA
300,000 x 12 3,600
= 3,600
=23 29 6,000 6,000 0
Al 3,000
- 3,000
307 el2tol & 6,000 6.000 0
Al 3,000
- 3,000
10 AlISXAAEEHE 22X 6,000 6,000 0
OJI=&Ew3g =23 6,000,000 6,000
Al 3,000
- 3,000
T8 SSAE ]X 22 18,820 6.820 12,000
201 Ler23 | 18,820 6.820 12,000
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12,000

200
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25,800

MEE
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3,900
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900
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1,000

1,000

25,200

Ofl &F2H

18,820
6,820

1,800

1,560

2,040

220
1,200
12,000
7,800
3,900
3,900

600
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300
3,900
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SN =NEY
e
Cel: FHAANES ME KA (SH &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
- 2,000
= 9,400
01 Al B& X Z2(2REETA) 19,400 25,200 A5,800
ORFER SSAHIA X2
5,000,000& 5,000
= 2,500
Al 1,500
= 1,000
ODYEZ S2AHIA X2 (KA
3,400,000& 3,400
= 3,400
OLeEx LBtEAEIA XA
5,000,000& 5,000
= 2,500
Al 1,500
- 1,000
ODPER LUEAHHIA X2 (KHH)
6,000,000& 6,000
= 6,000
307 212+01 A 9,000 14,400 A5,400
= 4,500
Al 2,700
- 1,800
11 Al SXAMEE X 9,000 14,400 A5,400
OCAlIZHEEZR X & 29|
3,267,000& 3,267
= 1,634
Al 980
- 653
OADIE 210 XN 23|
2,013,000& 2,013
= 1,006
Al 604
- 403
OL=A Ol At2|H2tHY &AL XI&
3,720,000& 3,720
= 1,860
Al 1,116
- 744
S At 2e| gdst K& 630 560 70
201 L2 | 630 560 70
01 Ar2eltl 630 560 70
OAtellZ2|AtE =& ZAH|
9,000& 2% 352 630
AT SetAtdl el X3 13,200 15,000 A1,800




SN =NEY
e
chel: FoOiE ME N (el mg)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 6,600
Al 3,300
- 3,300
201 fer=3| 6,600 7,500 A900
[ 3,300
Al 1,650
- 1,650
01 AF22t2ltl 6,600 7,500 A900
OAtell2tel slej=g S JIEt=Esl
6,600,000 6,600
[ 3,300
Al 1,650
- 1,650
301 EtE NS 6,600 7,500 A900
[ 3,300
Al 1,650
- 1,650
01 Al EE A S (2 DEXR) 6,600 7,500 A900
OAtdi2tel Abdl 6,600,000& 6,600
[ 3,300
Al 1,650
- 1,650
SEAtAIZII AL 14| I~ 5,860 5,860 0
[ 1,440
Al 720
T 720
= 2,980
201 et 3| 100 100 0
= 100
01 AtR2telHl 100 100 0
OSSR (SEAHZCIAL OFz3l XA
50,0002 x2&H 100
= 100
202 04t 5,760 5,760 0
= 1,440
Al 720
T 720
= 2,880
01 2LHA b 5,760 5,760 0
SR (S AtAZCIALN) SHOH
120,000& x 123 »2H 2,880
= 1,440
Al 720
- 720




2AM: SXEH
Zu: =XD|Y 1S
Cel: FHAANES ME KA (SH &)
SA - B S (BIH) - HISAY - Ofl by e MimE=E)
OZ2x (SBARR2IA) ER0IH 2012
== 120,000 x 122 +2H 2,880
= 2,880
KA EEEE X 435} 89,920 89,920 0
Al 22,000
- 22,000
= 45,920
201 LBt AY| 23,400 23,400 0
= 23,400
01 AFR22t2|d] 23,400 23,400 0
OXSEAMZSE HEEAN fI3 =
100,000& * 17 43| 6,800
= 6,800
OXNGAZIEE AREAM & =
100,000& * 12 43| 4,800
= 4,800
OXNGAIZIE&E N ASFLS 1=
500,000& *x23| 1,000
= 1,000
Os XNSARIEEHAX 29|
1,000,000 *QJH A~ 9,000
= 9,000
OXNSAIZI 2 EHE HAXE AIHAHE
18,000& x50 *x23] 1,800
= 1,800
307 21Z2to| ™ 66,520 66,520 0
Al 22,000
- 22,000
= 22,520
02 QIZFEAMAIEE X 12,000 12,000 0
OXNCAIZI EZESO|H EFAIH|(BEX)
8,000,000& 8,000
Al 4,000
- 4,000
OXYAIRIE&E N ELAISBI (XA
4,000,000& 4,000
= 4,000
03 QIZIHXIBHE2IHIE X 54,520 54,520 0
OXIGAR BASOIH 013 OIAHH|(BX
) 3,000,000& 128 36,000
Al 18,000
- 18,000
OXCAIR BE&ES O Molad ol (2]
24 11,520
oXILAISIEEEON MEQIH BEE
270,000+ 12& 3,240
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S SXHBD
mal: =3I 7E
x

Cel: FHAANES ME KA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 3,240
oXSAl 2SN M0 EANE
=2 250,000 122 3,000
= 3,000
o XM BEEAM MFH +H
140,000« 12& 1,680
= 1,680
cNGARI 2SN dgols SEFIL
] 1,800,0002 *22] 3,600
= 3,600
OXISAtal 2 M dzels ws0y|
1,000,000 1,000
= 1,000
OXNSA 2 ZE M AHR= 23|
500,000 * 122 6,000
= 6,000
folsUl e =29 19,480 19,480
201 er2 3| 19,480 19,480
01 AtR2telHl 4,000 4,000
oddy 28 225 F¢
200,000& * 128 2,400
O%clslyl et S22 MA S
1,000,000 1,000
Od=J| eg & 22yl
50,0002 123 600
02 S3=gl 15,480 0 15,480
Oo&IIe3 1,000,0002 122 12,000
Odotre= 500,000 x62 3,000
Onstea 40,0002 122 480
==X 1,010,000 1,010,000 0
= 808,000
Al 101,000
- 101,000
301 2eEN= 1,010,000 1,010,000 0
= 808,000
Al 101,000
- 101,000
01 Al EE AL S(FREXH) 1,010,000 1,010,000 0
O2E=XA 1,010,000,000& 1,010,000
= 808,000
Al 101,000
- 101,000
222X 29 1,200 1,200 0
201 et 3| 1,200 1,200
01 At22t2l] 1,200 1,200




SN =XFD
Mu: =10l 2
ool FONE ME X

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
SEELEFEEEES]
100,000 x6Z*23] 1,200
2oy 2Ig=XK# 30,315 30,315 0
Al 30,315
301 LetENEZ 30,315 30,315 0
Al 30,315
02 MBI 2EHH S (HUAHS, NSTHA) 30,315 30,315 0
OFad 2Ig=XKXI3 30,315,000& 30,315
Al 30,315
KIS ASI MBI A SXAISE (KSR E) 280,505 280,505 0
s 196,353
Al 42,076
- 42,076
308 AHXIHMSOIH 280,505 280,505 0
s 196,353
Al 42,076
- 42,076
13 I 2 S0IeHE & A S AL 280,505 280,505 0
OV EDELTHES NI
280,505,000& 280,505
s 196,353
Al 42,076
- 42,076
KSGASIAMEIA EXAIYE 2 (XI) 1,500 1,500 0
s 1,050
Al 225
- 225
201 Let23| 1,500 1,500 0
s 1,050
Al 225
- 225
01 AlR22IH| 1,500 1,500 0
OXISIHLE BeX 28|
1,500,000& 1,500
s 1,050
Al 225
- 225
JIARIEH SR S 20|AY 48,312 48,312 0
s 33,818
Al 7,247
- 7,247
308 AXISHMSOIA 48,312 48,312 0
s 33,818
Al 7,247




2A:

E M

Cel: FHAANES ME KA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 7,247
183 S| 2SO ZB XA AIE 48,312 48,312 0
OIMARME SE=0IAHE
48,312,000 48,312
[ 33,818
Al 7,247
- 7,247
LaEE MHIA A 42,856 0 42,856
[ 30,000
Al 6,428
- 6,428
201 eer23y| 3,000 0 3,000
[ 2,100
Al 450
2 450
01 At2teltl 3,000 0 3,000
Odd=sSAHHIAAE 2EH|
3,000,000 3,000
[ 2,100
Al 450
T 450
308 AXIHMSOIA 30,8% 0 39,856
= 27,900
Al 5,978
T 5,978
18 SIS0t & AAS A 30,85 0 39,85
OgaSsSMEIAAIY 39,856,000 39,8%
= 27,900
Al 5,978
- 5,978
Sote SESsSAE 24 100,000 100,000 0
Al 50,000
- 50,000
201 er2 3| 6,000 6,000 0
Al 3,000
- 3,000
01 AtR2t2|HI 6,000 6,000 0
OSe==SMe g82= N&H &
6,000,000& 6,000
Al 3,000
- 3,000
301 EtE NS 26,000 26,000 0
Al 13,000
- 13,000
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2A:

SINESES N}

ma: =7)|g 1
el SEDIsEE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SHS ¥ SEAMHIA XH 88,600 88,800 A200
= 62,020
Al 13,290
- 13,290
201 =3 53,600 53,800 A200
= 37,520
Al 8,040
- 8,040
01 At 22|l 53,600 53,800 A200
Os Z0bt= EASXAHIA F&
53,600,000 53,600
= 37,520
Al 8,040
- 8,040
301 22N = 35,000 35,000 0
= 24,500
Al 5,250
- 5,250
01 Al EE A S(FRDEXA) 35,000 35,000 0
OS Atdi2eltiaot+ X2
35,000,000 35,000
[ 24,500
Al 5,250
- 5,250
=t=SA SXSH 558,370 577,370 19,000
Al 340,800
- 145,570
= 72,000
2g2e & X& 558,370 577,370 219,000
Al 340,800
T 145,570
= 72,000
2EHM XA 114,550 109,550 5,000
201 et 3| 1,250 1,250 0
01 AtR2te|Hl 1,250 1,250 0
OE=z3& | 2l 2HES
750,000 750
O=3g dAt S 500,000 500
301 EtE N = 16,800 16,800
02 A2 XSG (FHAAHS, NSWE) 16,800 16,800
O53ES ¢ IRTX L BF S A
= 20,0003 »300H 6,000
OE=2HH &8 Ad3
18,0002 300 23] 10,800
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2A:

X XH -
o=

chl: (=CR-E))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Oxgorm el s++a
100,000& «12& 1,200
OBZ35|2 AEKXI22]
3,000,000& 3,000
HHY2AZHI(SXEE) 148,362 133,188 15,174
= 33,288
Al 16,644
- 79,59%
= 18,835
QI A| 99,507 93,432 6,075
s 33,288
Al 16,644
- 30,740
= 18,835
SEALZIZ AL e1EA2 A 85,411 80,167 5,244
s 33,288
Al 16,644
- 16,644
= 18,835
101 eI t| 69,835 65,091 4,744
s 28,250
Al 14,125
- 14,125
= 13,335
03 SRA(RINHS) 22X 2 69,835 65,091 4,744
OSEAtelZ 2| AL e124d|
2,167,160& 128 »2H 52,012
s 26,006
Al 13,003
- 13,003
OAIRte| =Y 187,000& *12& x2H 4,488
s 2,244
Al 1,122
- 1,122
QoA PRS2
350,000 x 128 x2H 8,400
= 8,400
OAIRIeI=E FHIRE=
90,0003 x12& 2% 2,160
= 2,160
Oduta=a 2,775,000& 2,775
= 2,775
N4 A=REIS 15,576 15,076 500
= 5,038




AR INESESI
M HYRAZH(SXFHL)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 2,519
T 2,519
= 5,500
M SRA(RIAHSL) 22N BEE2RE=s S 15,576 15,076 500
OE8sRE= 10,076,000& 10,076
[ 5,038
Al 2,519
= 2,519
O2E22EE TIPS
5,500,000& 5,500
= 5,500
SE At ZCIAL QERFH(HRHL =) 14,096 13,265 831
101 21AH| 14,096 13,265 831
03 SRA(RIH )22 U2+ 14,096 13,265 831
OdHzAlHl 140,000& x12& »2H 3,360
OE &=l 1,973,510& x2H 3,948
Ouxtraxt=¢ 1,963,770 x2& 3,908
OIE+e 240,000 x 122 2,880
Jl=2dsl 48,855 39,75 9,099
SAJI2Z3 48,855 39,7% 9,099
201 et 3| 10,107 6,804 3,303
01 AtR2te|Hl 10,107 6.804 3,303
ORAM2Y JIZ2+EH|
279,000 133 3,627
OJlzge-d =l
9,000 x5 %128« 123 6,480
202 04dl 32,448 29,952 2,4%
01 2L A 32,448 29,952 2,4%
OJlzgs=4 04|
260,000 * 132 » 123 +80% 32,448
203 gF=4| 6,300 3,000 3,300
01 D22 HARFA| 3,300 0 3,300
O=p=k=% 3,300,000& 3,300
M EAEgER=A 3,000 3,000 0
ORMEAZ2E 250,000 122 3,000
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